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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : P-DTQ-J-APP Test Booklet Series
Serial No. 5189
TEST BOOKLET
ZOOLOGY
Time Allawed : Two Hours Maximum Marks : 300

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNFRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE
IN THE APPROFRIATE PLACE IN THE ANSWER SHEET.

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet,

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses {answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

5. You have-io matk all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

e

7. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate,

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penzlty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each guestion for
which a wrong answer has been given by the candidate, one-third (0-33) of the
marks assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

{iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
R 2 : IR =l v g % Rt 98 W W R
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1, 1l locus in phage T, is one of the
loci affecting

fa)

(b)

fc)

(d)

2, Which one of the

rapid lysis of K-bacterium

rapid lysis of B-bacterium

protein coat synthesis

attachment of phage to the
bacterium

following

statements is not correct?

fa)

(b}

{c)

{d)

All sponges are exclusively
marine

Amphiblastula is a landform of
certain sponges

Calcareous and siliceous
spicules are found in many
sponges

All sponges are sessile

3. Chromopexy is a kind of

(a)

(b}

fc)

fd)

phagocytosis

cell vomiting

pinocytosis

exocytosis

P-DTQ-J-APP/3A
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4, Consider the following components
used in electron transport system
that act in a sequential manner :

1. NAD

2. Cytochrome C

3. Cytochrome A,

4. FAD

What is the correct sequence of the
above?

{a} 1-4-2-3

(b} 3-4-2-1

{c) 1-2-4-3

(dj 2-1-3-4

5. Which one of the following cell
organelles oxidizes very long fatty
acid chains?

(a)
(b}
(c}
{d)

Peroxisome
Nucleosome
Dictyosome

Golgl apparatus

6. Which one of the following enzymes
is involved in the regulation of cell
cycle?

(@)

{b}

fc)

(d)

Cyclin-dependent
kinase

protein

Cyclic-AMP-dependent
phodiesterase

phos-

DNA-dependent
erase

RNA polym-

DNA glycosylase

www.easybiologyclass.com
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1, fEpieh T, & Rer 4 3 1 frem
T=fafaa § A fve = = nofkg s
I
(@) K-SH0T 1 g9 S9ue
(b) B-S=T] %1 g6 SIHeA
c) A JETO FERE

(d) a1 S % gy G

2. Fafafae 4 & h-ar o =97 @ s
7

(@) T T Faer g @ AR §

(b) Wfeergen ffim wst w1 uw
el ¥4

¢ 3% @& 7 R ok
foferm et gt o

(d) |ft & wrerg g §

3. FHENRR T YEHR
(@) Fifawme g
(b} ST T &
{c) =ifi a2

(d) wEEEERREm }

P-DTQ-J-AFP/3A 3
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4. WRA AT @ A e M T

Frfofge @2l | Bar Hiftm,
AT ' 8w R

1. NAD

2. G C

3. TREEHH A,

4. FAD

S 1 el S T 2T
fa} 1-4-2-3

(b) 3-4-2-1

€) 1-2-4-3

(d) 2-1-3-4

5. frafefan & @ F9-w = RRE-T

stfedtel Fan-srer SEenst = afwhEm
&t &7

{a) wCRTEN
) FREm
{c) <
(d) TSt ITH

6. ffaflaa & & =@ w wmm

HIRvE-T% & e & miia 37

(a) WEfFRH-BE B =

(b) THEE-AMP-ATHA BIEAERS
{c) DNA-3T{3@ RNA W=

(d} DNA g A

[P.T.O.
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7. A molecular alteration in 10. In the case of sickle-cell anaemia,
chromosome that generally caonsider the following statements :
accompanies chromosome conden- ) s . .
sation during mitosis is 1. B-chain of Hb® is not different

from Hb® hemoglobin.
fa) phosphorylation of cdec 2

i 2. Patients are sensitive to
protein

malaria caused by

P. falciparum.
{b) phosphorylation of cyclinB

protein Which of the statements given

above is/are correct?
(¢} phosphorylation of histone H1

(d) tangling of sister chromatids {a) 1 only

' . . (b) 2 only
8. Which one of the following _

combinations of histone molecules
combines with the DNA to form the (¢} Both 1 and 2
nucleosome core?

(d) WNeither 1 nor 2
(¢} H1, H2A, H3, H4

(b} H1, H2B, H3, H4 11. A normal human female has two
X-chromosomes in her genome, one
fe; HI1, 3, H4, H5 of which gets heterochromatinzed
during early development and
(d) (H2A, H2B) (H3, H4) becomes inactive. Such inactivated

X-chromosome is the one which
has been contributed

9. Which specific cell substance when

treated with a warm acid and upon (a) exclusively by her mother

adding Schiff's reagent takes

reddish purple stain? (b) exclusively by her father

fa) Amino acid fc) by any of the parents, and
inactivation is a matter of

{b) Protein chance

{cj DNA (d) with more number of lethal,
sub-lethal and detrimental

(d} - Lipid genes on it

P-DTQ-J-APP/3A 4
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7. g frem & S0 RE # 3w w0
s [WH g § Red wE g
oA oft T & g @7
{a) cdc 2 MR N Biehe
(b} WEER B MdH @1 BighdH
(c =T H1 #1 Biehdiam

(d) wE-sugAl (fawe wmfeel) =
IAA T

8. f=faflen # | fdm et =1 =l
& @sE DNA ¥ o1 fim =t 3w
FIE T 37

(@) H1, H2A, H3, H4
(b} H1, H2B, H3, H4
() HI1, H3, H4, H5

(dj (H2A, H2B) (H3, H4)

{c) DNA

(d) fafve

P-DTQ-J-APP/3A
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10. TE-HRE aEd & a=d o fefafea

Tl W faEm fifem

1. Hb® Hi p-y@en HL? Feroifm @
i 7 2

2. Uft do $ewlwr TUW B A
wafan & sfs v3d g 8

I # @ FA-W/] ToF A /R
(@) ¥ 1

{b) Fa@2

¢ 1R 23R

(dj AR 1ATH2

11. U AW AFE ARE & S| ¥ @

X-RE B §, S & @ w1 e
fawm 3 fmaniived & s & o aw
ik & s 81 W w PfSRE
X-ToRT 96 ®

fa) T Faa sudl war & & T
T g}

(b) Toom Fom s@s e 3 & T
JRH B3N §

o) Nram - A fFft & &
B0 ATer g ® St Riskam wm
g Y 9 §

(d) tm w afrs e # 9w,

FauTE SR SUEmEE S W
AR gam }

[P.T. O.
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12. The number of chromatin positive
bodies in  individuals with
tetrasomic Klinefelter's syndrome is

fa) one

(b} two

fc} three

{d) four

13. The pgene required for 1ale

sex-determination in humans is
fa) DAX 1

(b} ZFX

fc) SXr

(d} SRY

14. With reference to plasmagenes,
consider the following statements :

1. Plasmagenes are present
inside the chromosome.

2. They are capable of self-
replication.

3. They are transmitted by means
of cytoplasm.

4. They are not capable of
mutation.

Which of the statements given
above are correct?

(@} 1 and 3 only
(b} 2 and 4 only
{c} 2 and 3 only

{d 1,2, 3 and 4
P-DTQ-J-APP/3A
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15. The tertiary structure of tRNA takes
the shape of

{a) clover-leaf
{b) inverted ‘J’
{c) inverted ‘T’

{d) inverted L’

16. In case of lac operon, when
disaccharide enters the cell

fa) it binds to the bound-
repressor-to-the-operator and
the structural genes are
transcribed because the RNA
polymerase can  recognize
and bind the transcription
initiation site

(b} it binds to the repressor and
the structural pgenes are
transcribed because the
repressor has an  altered
conformation; is inactivated
and does not bind the operator

{c) the membrane protein
interacts with the operator and
the RNA polymerase can
recognize the transcription
initiation site

(d} the membrane protein has an
altered conformation and does
not interact with the operator,
thus leading to the tran-
scription of the structural
genes

www.easybiologyclass.com
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12, Ryt Feiteet daam A& sfwat 15. tRNA # g =0 & R W

FRRA ymewE ®E ) TEn Ha ad STRfY TE = 27
L1

o) TAET-TA
fa) TH
@) @ (b) Siaehfa
fc) {c) whreifa T
@) =R {d) vieafa 1’

13. uaa 4 1 femr-Rufo F fRm w-d s

TS 87 : 16. &F N0 ¥ UEE ® oF TE-YRRE,
(@} DAX 1 ifdrer ¥ w39 W@ B
(b} ZFX {a) T@ SHG-THTHR-¥ITH (bound-

repressor-to-the-operator) %
Y §o S 3§ 3R HEAEs S
{d) SRY sefan & snft @ =S RNA
TR g TN W @
A FC THaM 3 IR TE WY

{c] SXr

14, wEARE & Tl § Pafafae +=Rt w

S Tl @
forem ifeg
1. <SAEE PR % W femm ) @ AR F WH g s g R
it 21 ﬁmﬁr{mﬁﬁﬁmﬁﬁaﬁawﬁ%
q caufiemn & few vaw ad £ wiifer gt viaffa de7 T g,
. A DIfieAEA % 31 wEE i §l - ¥ o ® W
4. A IRfada & R waw it €
) Bt D vt F Wy B wd
I FOA A Q@ FA-V w7 3 3 RNA TR NI
{e) Faw 1307 3 el %1 AfigE W= FRa g
(b) FIA 2 AR 4 (@) Fagt wém uiafit v awh & e
T8 Yoo &y fewr d W,
fc) Fa@ 23R 3 - ) o
‘ dj 1,2 334 TG Tl §
P-DTQ-J-APP/3A 7 [P.T.O.
|
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17. Which one of the following vitamins

is essential for the synthesis
of DNA?

fa) Folic acid
{b) Biotin
fc} Tocopheral

{d} Pyridoxine

18. Which one of the following human

genes has the longest stretch of
DNA {(~24 Mb)?

{a) Globin gene
(b} Histone gene
{c) Dystrophin gene

(d] tRNA gene

19. DNA microarrays or ‘gene chips’

were developed in the 1990s to
determine the

(@) joining  blunt-ended DNA
fragment

{b) transcriptional status of
thousands of genes in a single
experiment

(c) different pieces of the genomic
DNA

{d} homologous gene expression

P-DTQ-J-APP/3A
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20. Which one of the following is the

Henderson-Hasselbalch equation?

- oK. —log 1AL
{a) pH = pK, -log [(HA]

(Al
H = pK, +}
() p Pa+og[HA_]

[A7]
H = log =
(cb p pKy + og[HA]

= [H:A]
d H = pK, +1 _—
( ) p Py og [! _.]

21. Which one of the following parasitic

nematodes does not require an
intermediate host to complete its
life cycle?

{a} Brugia malayi
(b} Ancylostoma duodenale

fc) Wuchereria bancrofti

(d) Dracunculus medinensis

www.easybiologyclass.com
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17. Pafyfam € ¥ f9-w v e DNA 20. Pefafag § ¥ wA-@ T, TREA-

Tvayn ¥ R sifed 27 ieETea wHE 7
(@) Wi 3
faj pH = pK,-log i%l\_l
(b} A
{c) TEHda
(b} pH = pK, +log —[@_—
(d) RfEiRE | HA™]
18. PefuRae § @ B9 w AmE A § DNA H = pK +Iog[ﬁ:—]
£ Sekm B (29) (~24 Mb) ¥7 fe) pH = PRa+108 ]
{fa) T SR
_ [HA]
() T&=E | {d) pH = pK, +log A
fc) Tesifem ST
{(d) tRNA ST

21, Trafofan & & frw ©& uwiE gl =

s SfeR-ww of B F e el
19. 1:;:_;3 ;q:masﬁ DN;%W ayuay i & it 7
3 ¥ T R fey m?
(a) EART TTaE
(o) Fa-RR AR DNA GUS H M
b T W F FW S B (b) BN gHRIE
sgerE-m Rk
(c) TR IHET
(c) StArfE DNA %1 firm wm ;
() wmeTa i SRt (@) Sggea dfsTem
P-DTQ-~J-APP/3A 9 [P.T.O.
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22. Which one of the following is the
correct sequence of larval stages in
the development of Fasciola?

(a) Miracidium, Redia, Sporocyst,
Metacercaria, Cercaria

(b} Cercaria, Miracidium, Spora-
cyst, Metacercaria, Redia

{c) Miracidium, Sporocyst, Redia,
Cercaria, Metacercaria

{d) Redia, Cercaria, Metacercaria,
Sporocyst, Miracidium

23. With reference to Hemipterous

mouthparts, which one of the

following statements is correct?

{a) The labrum, mandibles,
maxillae and hypopharynx
form six long pointed stylets

(b) The labrum is grooved
ventrally

fc} The mandibles and maxillae
form four long needle-like
piercing stylets

(d) The labium forms a long
dorsally grooved proboscis

tipped with a pair of sensory
labellar lobes

24. The glands found on the edges of
eyelids and help to keep the cornea
surface moist are called

)
(b)
()
(d)

Ceruminous glands
Zeis glands
Sudorific glands

Meibomian glands

P-DTQ-J-APP/3A
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25. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-7 List-II
(Organism) fMetamorphosis)

A. Spring tail 1. Holometabolism
B. Stoneflies 2. Hemimetabolism
C. Termite 3. Ametabolism
D. Honeybee 4. Heterometabolism

Code :

fa} A B C D

(b)

(c)

{d)

4 3 2 1

A B C
3 4 1

N o

[

26. Which one of the following animal
groups belongs to same class?

(e}

(b)

(c)

{d)

Pheretima, Lumbricus,
Hirudinaria

Spider, Louse, Millipede
Cuttlefish, Devilfish, Squids

Silverfish, Crayfish, Razor fish

www.easybiologyclass.com
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22. ¥ydien & fTrew & W@l sEwne W 25, g1 ® T ¥ gl i sl

frafafas & & =9-T1 TF IgFR | 87 gl & 4R Ry T g w1 W@ @
@ duEfEm,  fm, WA, W L
T2THhIAT, Eh it
’ g1 -1
(b) wHfE, ig;ﬁ%ﬂ'q, wrRifee, (<) (srTaterTon)
’ o A FEATH 1. quiETam
X % ﬁ’ £ ’ ' B. mm s 2. HTIFEEEW
iﬁm, C. 9k 3. FFHETEA
@ Iﬂ'(l?f;ﬁ‘:'ﬂ'q ’ ’ ’ D. wmidE 4. ferEda
23, oniieh wa & wl § Pt ¥ T
FA-a1 e ug ?7
@@ A~ B C D
@) wsm, Afgmm, afFmm iR 4 3 2 1
TR 5 Tl Tiwar e
EriGh m A B € D
. 3 4 1 2
(b) AW Il AefER A &
(c) Hfsas o AfRen =R et gd B (c).; f (2: ?
@ A e s #
(d) Sfrm o wr gPE Teler g fd)j g ‘13 g
Faan & fad o wm § wE S
Wit aftwdr wifaat et &

26, ffafaa # @ FF-w & e ®F

24, 2 Tl | get & B w aeh s 2 1 ¥ gy b a7

AR Far B W H W vEd g, ]

FEEI 77 () WFm, aftma, deRana
ditmdfa (afvefer) e .
@ S By ), o, i
(b) =g uftat |
(c) I%E:EF{ ﬁw (C) mﬁ;ﬂ, W, 1@33
(d) WEEHT Tt (d) a i, fafme, g A
P-DTQ-J-AFPP/3A 11 [P.T.O.
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27. Match List-I with List-1l and select
the correct answer using the code

28. Which one of the following fishes is

m 9 o w 2

given below the Lists :

List-{ List-II
Struthioniformes 1. Uraetyphlus
Monotremata 2. Ostrich
Casuariiformes 3. Latimeria
Crossopterygii 4. Tuachyglossus
Gymnophiona 5. Emu

Code :
{a} A B C D
5 4 2 3 1
b} A B C D E
2 4 5 3 1
fc A B c D E
2 1 5 4 3
{d A B C D E
5 1 2 4 3

not a dipnoan?

faj Protopterus sp
{b) Neoceratodus sp
fc) Notopterus sp

(d}) Lepidosiren sp

P-DTQ-J~APP/3A
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29. Consider the following :

1.

2
3.
4

Diarrhoea
Dementia
Dermatitis

Delinquency

Pellagra is characterized by which
of the above?

fa)
(b}
{c)
{d)

1, 2 and 4
i, 2and 3
2, 3 and 4

1, 3 and 4

30. Consider the following statements :

1.

Pisces and Amphibia can be
differentiated on the basis of
differences in skin.

Elasmobranchii and Teleostomi
can be: differentiated on the
basis of endoskeleton.

Scoliedon and Torpedo can be
differentiated on the basis of
electric organs.

Salamander can be differ-
entiated from Bufo on the basis
of parotid gland.

Which of the statements given
above are correct?

(a)
(@)
(c)

1 and 2 only
2, 3 and 4 only

1, 3 and 4 only

({d} 1,2, 3 and 4

www.easybiologyclass.com
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27. -1 ® g1 | gafm Hif i
it & = g T g2 | oA wWoEd
Wﬁﬁl: '

et -1
. AR
. FEreftferg
. Reirgsi

k. T

(a)

(b)

28, Pl & ® s9-@ = Mg fT=sm
= 27

{a) TRIRT sp
(b) TAEEEISH sp
{c) TRICE sp

(d) SRS sp

P-DTQ-J-APP/3A
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29, Ffafes = fam ffm .
BENGED)
LEI
EENIC)
IIIR

Yo £ s & @ we- @ e
#

@ 1,2M4
(b) 1,233
) 2,334
[d 1,334

30. Frafifaa st w fEr it .

1. =% =l ¥ onuR R fuElte ol
AR & e forar soas 20

T * 51114 T
TerEEfRaE i AR #
fadre fren <t w1

i oiwl & onuR W wiferisiv
3R eiter & T femn s wwa
g

wolgd ofR ¥ AU W qE T FH
] v R s v R

o wol F @ FR-A W {7
(@) ¥ 1R 2

(b} Fae 2, 3 3 4

c) Faa 1, 33 4

{@ 1,2 334

[P.T.O.
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31. A caudal fin which is asymmetrical
internally and symmetrical
superficially {outwardly), and the
vertebral column is shortened and
slightly bent upward at the end is
known as

{a) Protocercal
{b) Diphycercal
{c) Heterocercal

{d} Homocercal

32. In schizognathous palate in ‘birds.
the vomer is

{a) large and broad behind

(b} either absent or small and
pointed in front

fc) broad and truncate in front

fd} large and perforated

33. Which one of the following features is

not correct in the case of New
World Monkeys?

(@) Cheek pouches are absent
fb) Pollex is opposable
Ischial callosities are lacking

No bony external auditory
meatus

34. Match List-I with List-Il and select
the correct answer using the code
given below the Lists :

List-I List-II
(Organism) {Structure)
A. Sagitta Nephridial tubes

Phororis Long refractile

proboscis

Lineus . Jaws as sickle-shaped
chitineid hooks

Lingula Bivalve shell

Code :

@) A
3

b) A
1

{c}

35. Sagitta is an example of a marine,
planktonic, predacecus animal and
it belongs to the phylum called

fa) Bryozoa
(b} Phoronida
fc, Chaetognatha

{d) Brachiopoda

P-DTQ-J-AFPP/3A
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31. U T3 U@, W oMaiea: oreAia AR 34. -1 = g1l ¥ gt HHifg AR

g wAtE § of wiew-d3 TUFd @ ghet & R Ry g2 = wm o 7d
3l f W gow-a I A M A1 gen I AT ;
2, T FgaT 27
geit-1 -1
(a) Ttrr%r (sfr=r) (wwr)
P — A. 8Frr 1. %% e |
. HRE 2. @l AvaaH gfEm
fc) T C. fifmm 3. wm-wneg wERAE
gl & w7 # 9@
(d) TANA

32. Wt F dfeg arg # difem weh S 87

@@ A B C D

() 3 it st Wt ofn =i 3 1 2 4
(b} A A IS A A R W wm ) A° B C D
7 Herer i1 3 2 4

. ff A B € D

fc) T 9 | =gt AR TN © 1 3 4 g
(d) =& I BBfa . @ A B C D
3 i 4 2

33. 7 fag %ﬁ)iﬁ%m A - 3s. foer < @b W, A, wiet S

IR 2, T8 BEaH | W=y @aT BY

(b) T[S WgE R (b) SR
(c) o e & ofe () e
(dj 3refim sTE Huge 6 & (d) s
P-DTQ-J-APP/3A 15 [P.T.O.
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36. Shivering in malaria occurs when

fa} schizonts enter RBC

(b} signet ring is formed

¢} merozoites enter RBC

(d) merozoites

from RBC

are liberated

37. Match List-I with List-lI and select
the correct answer using the code
given below the Lists :

w o o w o »

List-1
(Larva)

Glochidium

Bipinnaria
Tornaria
Amphiblastula
Trochophore
Code :
{a} A B
4 2
(b} A B
4 1
fc) A
5 1
fd} A B
S 2

P-DTQ-J-APP/3A

O

wn

List-IT
{Organism)

. Asterias

Balanoglossus
Neanthes
Unio

Sycon

Sl

an

+ O
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‘38. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

gowep

=

39. Which one of the following larvae
of Fasciola possesses cystogenous
gland cells?

40. Which one of the following structures
is absent in Taenia solium?

{a} Mehlis’ gland
{b) Rostellum

List1
Biradiata
Acoelomata

Pseudocoelomata

Schizocoelous
coelomata

Enterocoelous
coelomata

Code :

fa)

(b)

(c)

(d)

e wWrp > W
Lm vy w o W

fa) Miracidium
{b} Sporocyst

(¢} Cercaria

(d) Redia

{c/ Laurer’s canal

(d} Cirrus sac
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Sipunculida
Echinodermata
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36. TR F FuEd v P 87
fa) W AiF RBC T ¥ Hd 8
(b} & gz A = A 2
(c) = GUESY RBC # waw &4 2

{d) < @uesy] RBC ® 4% B 9 3

a7, ga-1 W - ¥ gafaa RRm ek

gRelt F i Ry v g = v@w w g
mﬂﬁf{: '
-1 I
(Frwen) (wf=r)
A. HrhifEam 1. ey
B. s 2. FAreaE
C. Ziafmn 3. fo=flg
D. it 4. ghT
E. J®HR 5. "RFHT
R
l@f A B C D E
4 2 3 5 1
() A~ B C D E
4 1 2 5 3

) A B C D E

5 1 2 4 3

d A B ¢C D E

5 2 3 4 1
P-DTQ-J-APP/3A 17
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3s. g1 # -1 ¥ g Hfm A

gt % R e g = owEm w® oA
m@ﬁ&:

T Tet-11
A. Tl 1. WRHAHEST
B. wdidwd 2. UHEAEHiel
C. Fdienia 3. =i
D. g e 4, wEE
E. ®ERE defier 5. &
e
@ A B C D E

3 5 4 2 1
) A B C D E

5 3 4 2 1
¢ A B C D E

3 5 2 1 4
@) A B C D E

5 3 1 2 4

39. &fyanear ¥ Frfafaa et (amaf) § 4

gt J ghwm of Afirerd @t @2
fa) FrEiEER

(b} TR

(c) Wi

(d) FEm

40, Dcfeea & | - @ A

Fiferm & sl @7
(a) Wl nf¥

(b) €=
fe) X TS

(d) T ®N

[P.T.O.
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41, In Hirudinaria  granulosa, a- 48. The presence of foramina
temporary clitellum is formed by transversaria for the passage of
the segments artery and vein is a characteristic

feature of
faj V-VII

a) cervical vertebrae of rabbit
(b) Xl {a) ebrae of rabbi
() IX-XI (b} thoracic vertebrae of rabbit
(@ TV {c} cervical vertebrae of frog

{d) thoracic vertebrae of frog
42. The Indian cattle leech, Hirudinaria

granulosa possesses 46. The inner surface of the intestine in

{a) 5 pairs of eyes and 11 pairs of some fishes becomes folded to form
testis sacs an anticlockwise spiral called scroli
valve. This valve is present in
(b) 2 pairs of eyes and 2 pairs of

testis sacs (@) Tenulosa ilisha
() 1 pair of eyes and 11 pairs of {b) Ctenopharyngodon idella
testis sacs

(¢) Scoliodon sorrakovah

{d} S pairs of eyes and 1 pair of

testis sacs (d) Heteropneustes fossilis

47. Which one of the following air sacs in

43. Kidney in Pila communicat ith
< Hiicates W Columba is not paired?

(@) pericardium and mantle cavity

fa) Cervical
visceral aorta and pulmon
) vise prmonay () Thoracic
(¢} visceral aorta and mantle (e} Interclavicular

cavity (d) Abdominal

(d) mantle cavity only .
48. Trachea is supported by complete

44. Which one of the following types of bony rings and  complete
skull is found in Columba? cartilaginous rings respectively in
{a) Dromeognathous {a} Columba and Calotes
(b) Desmognathous {b) Rana and Columba
fc} Aegithognathous {c)] Calotes and Oryctolagus
fd) Schizognathous (d} Oryctolagus and Rana
P-DTQ-J-APP/3A 18
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a1, gefRAfer dqenar § fer @l & g0
areorft wifes ) B #7

fa) V-VII
(b} XII-XXV
{c) IX-XI

{d) -V

42. TER wash S, SRt dgetard

(@) 5T X N 11 TH JI H g
%

(b) 2 9™ 3 N 2 TH TV HY ¥R &

(¢ 1 3m ¥ it 11 TW 90 N T
g

(d) 5T 3 R 1 FH I FME B &

43. yEen ¥ g% ek Wy @ 7 g 87
fa) TR T IER-TEI
(b} M HETwAl St W BN
fc) AT AEER 3R wER-IE
{d) A TER-TEl

44, Fie # Pafafas § @ 5w o =R 6
w2 grft St 27

G
(b) wEEAL
fc} =THEHN
(d) ¥mieg

P-DTQ-J-APP/3A 19
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45, v 3t B & s & R wRfe
Ziaawdfen A frmrn frve o fafie
A g7

{a) TOIE F UG FeH
() TUM @1 agig FRAEH
(c) We® w1 Ml FHIEs

(d) ATF F aEiG Foh

46. §5 #A § s H il wag afem @
T qEd affe s B R weie e
FEd 51 9% 99 e e e 7

a) =i sferam

(b) DR s
(c) THITeraISiH FRIHET
(@) edgred wikfew

47. Ferar & Pefafas § @ €R-w 9 ®i
gida Tt far?

(a)
(b) &=
fc) SATTSEH
(@) 353

48, "wEE wh: e gl aifee St iR
qul Suifea Fer g e g 87

(a) FicTar AR FAr2q
(b) 7 3R e

(c) Few AR FRFAT
(d) SR=ZTE AR I

[P.T. O.
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49. In Calotes, the apex of the ventricle is 53. The hormone somatostatin is
connected with the pericardium by secreted from
a thin and white tissue cailed
. fa) medium eminence
(a} Musculi pectinati

{b) zona glomerulosa
(8) Chordae tendineae

{cj delta cells in pancreas
fc) Gubernacular cordis

’(d) choroid plexus
{d) Columnae carneae

b4. With reference to coelenterates,

50. In the heart of rabbit, sinus venosus consider the following features :

is absent as it has merged with the
1. Polyp forms

wall of
' 2. Strongly developed stomo-
faj right auricle daeum and possessing
siphonoglyphs
(b} left auricle P eIp
3. Well-developed mesoglea
{¢} conus arteriosus containing fibrous connective

tissue and amogeboid cells
{d) right ventricle

Which one of the following pairs of
S51. Systemic arches in frog are derived ?oe::’nte:ates represents the above
from which aortic arches? catures:

{a) Fourth pair ' ' {a) Obelia and Aurelic
(b} Third pair (b) Physalia and Vellela
fc) Fifth pair fc) Polyorchis and Porpita
{d) Sixth pair {d) Zooanthus and Alcyonium
52. Myxoedema is a disease caused by 55. Among the following foods, which is

the most appropriate for a desert
mammal for the regulation of its
water balance?

(@) hypersecretion of thyroxine
hormone in children

(b} hypersecretion of thyroxine {a) Carbohydrate-rich cereals
hormone in adults

b} Oil-rich seeds
{c) hyposecretion of thyroxine

hormone in children {c} Protein-rich pulses
(d} hyposecretion of thyroxine {d) Both carbohydrate- and
hormone in adults protein-rich foods
P-DTQ-J-APP/3A 20 :
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49. Fow § freom = e, W % 9
ra o wdF o Aq T F W 9GE
Bt 27

(a) FFam Af
(b) FE T

{c) uﬁ%&maﬁ%ﬂl
(d) afl v

50. WUIW % &4 A fiv e arpfEm g
%, %41t T8

(o) <=for arfem £ ffw & Rl & s
2

) T R R R A T
3

fe) Wl vigy 6 Ffv & facfa & = &

(@) =R frem & fify | faefs @ s
[

51, TeF A 2w = F-|@ wenor =Swt @
e Bt 87

(a) <ar gH

(b) o gm
{c) wtaal gm

(d) B FA

52. fuldufem, = O, BhF o & A 372
(o) TET B QAR §E1 w1 faerE
(b) TTEE T SEURA b & Afwa
(c) ==l 7 AR &R * IeeEE

[d T § gif@m gHR W
AT
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53. gLl T Rred wiem f@ 27

(o) i it
(b) T ¥
(c] =y H e B

{d) T S

54. TgHEl F g A Frafafae Al w

forem Aifom

1. giferd &9

2. uyw ¥ 4 Fefm geew @k
gRerals Bt &

3. ghwfa novaws R WeER
ol sas ot onfiefim R
At &

et W Pefafae 4 @ SR s W
I AR A e w87

(o) o 3 ik
(b) wTEEcra 3R et

(c} dichsritfag s gifder
() T IR ARE

55. FrafRae wml & Q, 7% TAUH & T

wem & A & fag F9-w, weifes
U /7

(a) T FEISE A FAH
() TR A TR A
{c) It A awelt Tt

(d) TR FEEEge N TP WA A
@ el

[P.T.O.
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56. Consider the following pairs : 58. During transmission of nerve
impulse, the membrane potential
Membrane Functions inside the cell is
proteins fa) first negative, then positive and
1. Sodium channel  Helps in entry back negative
of Sodium into (b) first negative, then positive and
the cell remains positive
2. Potassium Helps in entry fc} first positive, then negative and
channel of Potassium remains negative
into the cell {d} first positive, then negative and
3. Sodium- Helps in exit of back positive
Potassium Sodium and 59. During phosphogluconate pathway
ATPase entry of {HMP shunt), the monosaccharides
Potassium into formed along with CO, are
the cell {a) hexoses
Which of the pairs given above (b} trioses
is/are correctly matched? (c} tetroses
(d) pentoses
faj 2 and 3 60. What is the difference between
substrate level phosphorylation and
(b) 1 and 2 oxidative phosphorylation?
(& 2 only fa) Energy released by flow

electrons is utilized in oxidative
hosphorylation for the

@) 1 and 3 P

(d} an synthesis of ATP but not in

substrate level phasphoryla-

tion
57. Which one of the following is correct (b} ATPs are produced by oxidative
in ion exchange during impulse ' phosphorylation but not by
conduction? substrate level phosphoryla-

tion

faj Sodium pump stops working fc) Substrate level phosphoryla-

tion occurs only under non-
aerobic condition but not
oxidative phosphorylation

(b) 3Na* are pumped in and 2K*
pumped out

fd) Oxidative phosphorylation
requires more energy for
synthesis of ATP  than
substrate level phosphoryla-
tion

{¢/ 3Na* are pumped out for
every 2K* pumped in

(d) 1Na* replaces 1K'

P-DTQ-J-APP/3A 22
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56, fFrafafiaa 3ot @ fmm Afm

g m&d w1
1. wfem S & aifTmm F
| Taw | wgEal =
2. TRmw  wfee A oRlvm *
¥ AT o werEE T §
3. wRmm- FRE L s
M2fimn s @R Sl o
ey Nefimm & o
WERAT 3 &
I gt § § -8 ek /37
(@) 233
(b) 132
() HaT 2
(@) 13R3

57. fmfafaa 3§ | FR-81 T, @A I &

A s Rt & fom wdt @7
(a) CfEaw T HW I T W IW T

(b} 3Na* =t ufdm @8 § =M 2kt
TR UG FAE

) TR 2K* ¥ =y uffm R &
o 3Na* IR wfiiE g 3

{d) 1Na* 1K* o wfcreiva shtan B

P-DTQ-J-APP/3A
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58. WhiE w@n ¥ g9W & O, SR

= g o

(o) TER RS, ACLW, TACAS B
2 oM I FOWEF B T 2

(b) B WO, TG TS Bl
% afnt wewss @ w1 @ 3

{c) TR CATEAS, A, FOHE Ben
% 3R e @ 9 @ B

(d) TES ACHE, TEILT FINHS gial
2 ok 9199 AT B T ]

50. wWRErEEE T (HMP ¥2) % @,

co, ¥ % wa-wy I wE-}
MEEHIEE 7 87

{a) FELin: |

(b} TEH

(c) ¥

(@) ¥2m

60. Frmm TR FiFeleya it sitedwted

FERIENE & T W IR B

(@) STFfFTl Ferlew § g
¥ vz 4 Pdw &=t =1 ATP &
Ty & Iwm g 2 g Brmum
T SRty | T2 B

(b} iiwwhl FERdAs W ATP
Fadfl ¥, g fREmR &
wERiRTE g T8 avdt

) Brmm wR weRhaTa Sad
s fRmE § & afda g g,
g et SRR

(@) afFfwofl weEdcam o ATP
e & fow femmR wX
HopiaTE i Afts S f
aaTaHal Bt 3

[P.T. O.
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61. Consider the following pairs : 64. Consider the following statements :
Polysaccharides Glycosidic Fibrinogen, the precursor of fibrin
bonds
1. consists of only primary
1. Chitin B(1-4} structure
2. Cellulose B(1-6) 2. resembles fibrous proteins
structurally
3. Glycogen o{1-4) and «(1-6)
’ 3. behaves like globular proteins
Which of the pairs given above are in their solubility in aqueous
correct? salt solutions

Which of the statements given

fa) 1 and 2 only above are correct?

{b) 2 and 3 only
fa) 1 and 2 only
{¢/ 1 and 3 only

) 2 and 3 only
{[d} 1,2 and 3

{c/ 1 and 3 only

62. Bombfkol is afan (d) 1, 2 and 3

{a) hormone
65. Consider the following :

{b) parasite
Succinate dehydrogenase -

{(c/ pheromone NADH dehydrogenase

{d) enzyme Cytochrome oxidase

Cytochrome be; complex

i I B

63. Long-chein fatty acids penetrate the
inner mitochondrial membrane as
derivatives of which one of the

What is the correct sequence of the
above in the electron transport

following? chain?

{aj Carnitine fa) 2-4-1-3

fb) Coenzyme A (b) 2-1-4-3

{¢) Sialic acid fc) 3-1-4-2

{d}) Sphingosine (d] 3-4-1-2
P-DTO-J-APP/3A 24
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61, Frfafay ot w Fem $ifig
gierEeIgE TIEREge!
TRY

1. il B(1-4)

2. HgAW B(1-6)
3. RS c(1-4) 3T a(1-6)

s it 3 @ AR
(@) Faa 1 sfr 2
(b) A 2 ’N 3
fc) %3d 131 3
idj 1, 233

62. aﬁaﬁaw%?
(a) BEE

63. & F@en o won-avw Fefaiee § @
e = % g F wW F R
T gt § i w0 82

fa) SRR

{b) UETHTH A
fc) wgufers anE
(d) et
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64. Pmfafaa s w faer fikm

SEREEE, S EEiEE w5 o 2
1. Sad s €T 9 o 8

2., WEMOHEH TI W WEN WEE %
TAH B R

3. wehg J9u-aet § faemm F umd
# miforema TEET 6 wifa sEse
T

I B Y § A} TR L7
(a) A 1 3R 2
(b) ¥ 2 3R 3
(c) FaA 1 3R 3

@) 1,233

65. Fefafaes w famm €ifeg

1. wiEe dEsgeeE
2. NADH ¥Egeig
3. WIEERA SR
4. WIEHA be, TH

d) 3-4-1-2

[P.T. O.
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66. Consider the following statements
regarding the inner membrane of
the mitochondria :

1. It keeps a high concentration
of H* in the intermembrane
space.

2. It helps to arrange the different
molecules of the electron
transport chain in the right
order,

3. It has proteins and
phospholipids.

Which of the statements given
abave are correct?

{a) 1 and 2 only
(b} 2 and 3 only
(¢ 1 and 3 only

{d 1,2 and 3

67. Maltose is formed by which
glycosidic linkage?

{a) Glucose o 14 glucose
(b} Galactose o 1-4 glucose
{c) Glucose f 1-4 galactose

fd} Glucose f§ 1-4 glucose

68. Who among the following proposed
the a-helix structure of proteins?

fa) Crick and Watson
(bj Pauling and Corey
{c) Nirenberg and Khorana

{d} Skoog and Miller

P-DTQ-J-APP/3A
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69. An allosteric inhibitor of enzyme
action acts by combining with

fa} the catalytic site of the enzyme

(b) the non-catalytic site of the
enzyme

fc) the substrate

fd} both the substrate and the
non-catalytic site of the

enzyme

70. Which among the following are the
enzymes leading to substrate level
phosphorylation during glycolysis?

fa) Pyruvate kinase and enolase

{b) Pyruvate kinase and phospho-
glycerokinase

e} Triose phosphate dehydroge-
nase and phosphoglycero-
kinase

(d) Phosphoglycerokinase and
phosphofructokinase

71. Which one of the following
statements is not correct about
metamorphosis in frog?

fa) The forelimbs, which develop
under cover of the opercular
membrane, break through to
the exterior

{b) The middle ear develops in
connection with the third
pharyngeal pouch

fc) The eyes protrude on the
dorsal surface of the head and
develop eyelids

(d) The tongue is developed from
the floor of the mouth
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66. TR %t R g & o= #
ﬁm%amﬁwﬁmzﬁfﬁm

1. ¢ g smwm § HY A 3=
TTE ST Tl &

2. 9% Eg AR Juen % Bfim
AN aft FA 8 =EfRm A °
HEEd ) 2

3. ToH MW iR wenifaie €
I woAl A @ -3 wh 7
(o) FEA 1 I 2

(b) Fa 2 3 3

(¢ #Faw 133

{d) 1,23m3 -

67. "o fhu mgwitufes s @ swar &7
(@) THE o 1-4 THE
b} NEEE o 1-4 THT
fc) TEW p1-4 o
(d) TR P 1-4TTRE -
68. Treffan § & Pemt 9N A o
HESHT S Wearaa et -en?
(a) Tneh ST angE
(b) uitem 3w
{c) RAeE! 3R A
(@) T 3 e
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69. T=gw TR w1 et gens fFad @y

AT g S Fal 87

fa) TSR F I A
(b} THEH HN SR T
o) AFTH

{d) TS AN THRT H ATORE T
gt

70. Fafafias 8 @ =F-] w=en arestate

F AT AP FHaur = wiendaTs w
&7

(a) WTEEAT FEAE S THAE

(b) WEAT wEW AR B
fretwE

fc) TR Wik dergea 2k
FrERraR G

(d) FonforiaEE ok HiER-
FHIHIGAH

71. HEw % wrEa % oy ¥ fosfafas 4 9

HH-T UF FIF WG @ 27

fo) TR, St a4 Bl & AT &
R AEhE 90 8, IR P ar
g

(b) g ol R TEE iy & e @
forafta B &

() @ ¥ 6 98 w0y W AR @
e wrf § 3wk oft i
ATt &

(d)y T, 1@ F ow @ foefia A @
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72. Which of the following changes are
involved in retrogressive meta-
morphosis in ascidians?

1. Increase in the number of
pharyngeal stigmata
Complete disappearance of tail

Disappearance of the endostyle
and other parts of feeding
mechanism

4. Disappearance of the eye and
the otocyst

Select the correct answer using the
code given below :

Code :

(aJ 2 and 4 only

(b}

e/ 1,2 and 4

1and 3

(d) 2,3 and 4

73. Consider the following develop-
mental stages of frog :

1. Neurula
2. Blastula
3. Morula
4, Gastrnula

Which of
blastopore?

the above lack =&

fa}j 1 and 4
{b) 2 and 3 only
{fc) 1,2 and 3

(d) 2,3 and 4

P-DTQ-J-APP/3A
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74. Consider the following statements :
The upper layer of the area opaca in
the blastoderm of chick gives rise to
1. ectoderm
2. mesoderm
3. extra-embryonic endoderm

Which of the statements given
ahove is/are correct?

faj 1 and 2 only
fbj 1 and 3 only
fc} 3 only

fd} 1,2 and 3

75. Consider the following statements
on extra-embryonic membranes in
chick :

1. Allantois has inner layer of
endoderm and outer layer of
splanchnic mesoderm.

2. Yolk sac has an inner layer of
endoderm and outer layer of
splanchnic mesoderm.

3. Allantois has inner layer of
splanchnic mesoderm and
outer layer of endoderm.

4, Yolk sac has inner layer of
splanchnic mesoderm and
outer layer of endoderin,

Which of the statements given
above are correct?

faj 1 and 2

(b}
() 3 and 4

2 and 3

(d) 1 and 4
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72. tufemat & sfewrrdt s § fefafen

A} B2 wie qfiim &

1. et awfesl f wen | i

2. TS T P o

3, FUTEA @9 R oH WA ¥
I W F @

4. aita ohe A

T3 e W o @ W w-ad I
EELE

T :
(a) FaW23M4 -
(b) 1 3R 3

‘(c} 1, 2 3 4
(d 2,334

73. ew 6 Pefafen whedy et T
ﬁﬂ'ﬂzﬁﬁq

1. =gea
<
HreaT
Ide O B fred s 7@ dane

A

(a) 134

(b) Ha 23R 3
© 1,233
d) 2,334
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74, Tr=fiiaa o w fEm fifdm .

FEZ & el # smReyl & & Il
T A T Y

1. sReEH
2, HEGSAR
3. yuErE A<Ed

I FURl T § -/ wh 38
fa) daet 1 3R 2

(b) ¥ 13 3

(c) F=a 3

(@ 1,233

75. T H YUER w1 & g § Pafeafea
FeH W faEm Fifv

1. uafE 6 =R wta s
AR S WA AT SRR
2t B

2. g wm N AaiE W e
# 3R T WA ST HEISERR
# Bt 7

3. SITHIfE N S Wa A

neEE H o aw v g
£ B B

4, Hfiaw =iy I il 7@ A
TENAER A 3R S 9d SFaEd
Tt )

IodE Tt A |/ F-a wE §7
@) 132
(b} 23M 3
() 334
(d) 134
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76. Consider the following statements :

1. By examining embryos and
foetal stages of a vertebrate
group, it is impossible to
identify the group to which
they belong. :

2. Structural similarities exist in
embryonic and larval stages
which are not apparent in
adults.

3. During the development, chick
first resembles a fish, then an
amphibian and later a reptile.

Which of the statements given
above is/are correct?

fa) 1 and 2 only

b} 1 only

fc} 2 and 3 only

fd) 1, 2 and 3

T7. Match List-] with List-II and select
the correct answer using the code
given below the Lists :

List-1 List-HI
{Type of placenta) {Example)
A. Epitheliochorial 1. Dog
B. Syndesmochorial 2. Platypus
. Endotheliochorial 3. Rabbit
D. Homgchorial 4. Pig
3. Deer
Code
(@@ A B C D
2 4 1 3
m A B C D
4 5 3 1
c A B C D
2 4 3 1
d A B ¢ D
4 5 1 3

P-DTQ-J-APP/3A
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78. What

is common in the scientific

contributions of scientists, viz.,
Francesco Redi, Lazzaro Spallanzani

and

(a)

{b)

fc)

(d)

Louis Pasteur?

Their studies have conclusively
proved that higher forms of
organiams have not evolved
from viruses

They have provided experi-
mental evidences disproving
the theory of spontaneous
generation of organisms

They have shown that viruses
exhibit features of both living
organisms and non-living
things

They have shown that most
bacteria are heterotrophic in
their nutrition

79. The main contribution of Stephen
J. Gould to the evolutionary theory
is the proposition that

{a)

(b)

{c)

()

most evolutionary changes are
principally the outcome of
gradual accumulation of small
inherited variations

Mendelian mechanisms cannot
be an important element in
directing evolutionary changes

certain characters show a
sustained tendency to develop
along an evolutionary line

most evolutionary changes
have consisted of rapid
outbursts of speciation
alternating with long periods
during which the individual
species remained virtually
unmodified
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80. Which of the following groups of

animals studied by Darwin in his
visit to Galapapos led him to
advance his theory of evolution?

{a)

(v}

{c)

{d}

Flightless birds, giant iguana
lizard and cave-dwelling fishes

Finches, echidnas and
cave-dwelling newts '
Giant land tortoises,

armadillos and opossums

Finches, giant iguana lizard
and giant land tortoises

81, Why are frogs and toads usually
absent from oceanic islands?

fa)

(b}

{c}

()

They- are poor swimmers and

cannot cross large water
barriers
There is not sufficient

availability of freshwater for
breeding purposes in oceanic
islands

There is scarcity of insects
which form the major part of
their diet

Saltwater acts as a barrier and
they are quickly killed hy
saltwater

P-DTQ~J-AFP/3A
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82.

Consider the following statements :

1. The Neanderthal man was
thick-set, muscular, relatively
short with a large nose and
strong jaws.

2. The Neanderthal man
inhabited sub-Saharan Africa
about 50000 years ago.

Which of the statements given

above isfare correct?

fa} 1 only

{b) 2 only

fc} Both 1 and 2

{d} Neither 1 nor 2

83. Match List-I with List-Il and select
the correct answer using the code
given below the Lists :

Dog e

List~J List-IT
{Insect pest) {Crop)
Papilio demoleus 1. Cotton
Dysdercus koenigii 2. Coconut
Oryctes rhinocercs 3. Citrus
Phenacoccus hirsutus 4. Coffee

5. Jute

Code :
fa} A B C D

4 3 5 2
(b} A B C D

3 1 2 5
{c) A B C D

3 1 5 2
d) A B C D

4 3 2 S
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83. -1 A THA-1 A gafkm BRm alr

gt & e i T R o woad
Sﬂ'{ﬂﬁl{:
gi-1 Heft-11
(Fre dig) (wwe)
A. fifcran fegifersre 1. wum
B. fRaedw sl 2. TiRaw
C. wiftedig gy 3. fg-aw
D. ¥iFed Bgew 4. HHY
5. 92Ea
TR
(@@ A B C D
4 3 &5 2
) A B C D
3 1 2 s
6 A B € D
3 1 5 2
i A B C D
4 3 2 5
[P.T.O.

www.easybiologyclass.com




Print Less... Save Paper... Save Trees...

84. Paddy crop is damaged by which one

of the following insects?

{a] Leptocorisa varicornis

(b} Dysdercus cingulatus

fe} Bruchus chinensis

{d) Sitophilus cryzae

85. Which one of the following pairs is

not correctly matched?

fa} Aedes aegypti

(b} Glossina palpalis

{c) Xenopsylia
cheopis

{d} Phlebotomus
papatasi

¢ Yellow

fever

Sleeping
sickness

: Plague

: Hay fever

86. Which one of the following causes

severe damage to
industry?

{a) Galleria

(b} Lepisma

{c} Liposcellis

{d} Monomorium

P-DTQ-J-APP/3A
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87. The honey contains maximum

percentage of following sugars
faj Sucrose and fructose

fb} Trehalose and mannose
fc} Levulose and dextrose

{d) Maltose and glucose

88. A person observing proionged fast

will excrete which one of the
following in urine?

faj Fat
(v} Amino acids
{¢) Albumin

{d} Ketone bodies

89. With reference to poisonous snakes,

consider the following statements :

1. Ususally a pair of maxillary
teeth is modified into fangs.

2. Scales on the head are
enlarged to form large shields.

3. The parotid (labial) glands are
modified into poison glands.

Which of the statements given
above are correct?

faj 1 and 2 only
fbj 1 and 3 only
fc} 2 and 3 only

{d 1, 2 and 3
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90. Consider the following statements :

In citric acid cycle

1.

three hydride ions {hence, six
electrons) are transferred to
three NAD* molecules

one pair of hydrogen atoms

(hence, two electrons) is
transferred to one NADP*
molecule

one pair of hydrogen atoms

(hence, two electrons) is
transferred to one FAD
molecule

one NADH molecule is utilized
in the process

Which of the statements given
above are correct?

(@)
(b)
()
(d)

1l and 2

1 and 3

1 and 4

2 and 4

91. Hypersecretion of glucocorticoids

especially cortisol

and cortisone

Causes

(e}
(b}
fc}

{d)

Addison’s disease
Adrenogenital syndrome
Cushing’s syndrome

Testicular feminization

P-DTQ-J-APP/3A
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92. Kidney is involved in the synthesis of

(a)
(b}
(c})

(@

calbindin for calcium
absorption

calcitrol for calcium
homeostasis

cholecalciferol for bone
formation

calcitonin for phosphorus
metabolism -

93. Match List-] with List-1I and select
the correct answer using the code
given below the Lists :

List-I List-IT
{Hormone) (Nature)
A. Estradiol 1. Amino acid

derived
B. Thyroid 2. Protein
stimulating
hormoane
C. Glucagon 3. Glycoprotein
D. Epinephrine 4. Cholesterol
Code :
fa) A B C D
1 2 3 4
{b} A B C D
1 3 2 4
fct A B C D
4 2 3 1
{d} A B C D
4 3 2 1

94. An end of a double-stranded DNA
molecule where there is a single-
stranded extension is called

{a
(b}
(c}
{d}

Blunt end
Staggered cut
Stem-loop structure
Sticky end
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95. By working on which one of the

following did Beadle and Tatum
put forward one gene-one enzyme
hypothesis?

{a) Drosophila melanogaster
(b} Escherichia coli
fc) Neurospora crassa

{d} Saccharomyces cerevisiae

96. Consider the following pairs :

Industry Pollutant
released
Petroleum Hydrogen
refinery sulphide
Paints and Nitrobenzene
pigments and aniline
Tanneries Chlorine and

lead

Which of the above pairs is/are
correctly matched?

fa) 1 and 2 only
(b} 2 and 3 only
fc) 1 only

fdl 1,2 and 3

97. Among the following zooplanktons,

which one is not a rotifer?
(@) Brachionus

{b} Asplanchna

{c) Stenocypris

{d) Lecane

P-DTQ-J-APP/3A
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98. Which one among the following is the

largest wetland?
(a) Pulicat Lake
(b} Kaliveli Tank
{cj Chilika Lake
(d} Vedanthangal

99, . ‘Project Musk Deer’ was launched in

1974 in

{a} Dachigam National Park
(b} Kedarnath National Park
fc} Corbett National Park
{d) Pin Valley National Park

100. The Gangetic dolphin belongs to the

genus
faj Platanista
{b) Pelphinus
fc) Balaenoptera

{d) Phocaena

101. Consider the following statements :

1. The Pygmy Hog (Sus
salvanius), the smallest wild
pig, is an inhabitant of Eastern
Himalayan foothills.

2. The Mouse Deer (Tragulus
meminnag), a tiny rminant,
inhabits the forested areas of
Southern India.

Which of the statements given
above is/are correct?

{a} 1 only

{b} 2 only

fc) Both 1 and 2
{d} Neither 1 nor 2
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102. The ancestral horse Eohippus of 106. To facilitate the agquatic respiration,
FEocene period shows which one of tracheal gills are found in which of
the following adaptations in limhs the following?
for speed? fa) Fishes
{a}) 4 digits in forelimbs and fb) Turties

3 digits in hind limbs fc/ Mollusks

b} 3 digits in forelimbs and {d} Insects
4 digits in hind limbs

fc) 4 digits in forelimbs and 107. Which one of the following is a
4 digits in hind limbs secondary aquatic animal?

Zygaena
(d) 3 digits in forelimbs and {a) Zyga

3 digits in hind limbs (b) Dugong
{c) Salea
103. The Eravikvulam National Park is {d} Exocoetus

famous for its

fa) Gaur 108. Which one of the following is
the most productive aguatic

(b) Lion-tailed Macaque ecosystem?

{c) Nilgiri Tahr {a) Corzal reef ecosystem

(d) Great Indian Bustard (b} Estuarine ecosystem

fc¢) Rivering ecosystem
104. Accessory respiratory organs are fdj Pond ecosystem
found in fishes living in

fa) marine water 109. Consider the following marine

organisms :
(b) cave water 1. Ammodytes
fc) snow-fed rivers 2. Calanus
{d} tropical freshwater 3. Clupea
4. Chaetoceros
105. Which one of the following is not a Which one of the following is the
fossorial adaptation? correct sequence of the food chain

formed Dby these  organisms
beginning with the producer?
{b) Fusion of cervical, sacral and (@) 2~4-1-3

lumbar vertebrae

fa) T-shaped episternum

(b) 4-2-3-1
{cj Keeled sternum ) 4-2-1-3
{d) Highly developed tactile sense fd 1-4-3-2
P-DTQ-J-APP/3A 40
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110. A genetically different population of a

species colonizing different habitats
is known as

fa) Ecophene

{b) Ecotype

{c) Ecological equivalent
{d) Ecad

111. Which one of the following is found

in Eastern Himalayan sub-region?
{a) Brown Goral

(b} Markhor

c) Ibex

{d} Tahr

warm-humid climate many
mammaels, birds and insects are
darkly  coloured than  their

counterparts living in cool-dry
climate. This is an example of

fa) Jordan’s rule
{b) Gloger’s rule
(c) Bergmann’s rule

{d) Allen’s rule

113. Indian wild ass comes under which

Schedule of Indian Wildlife
(Protection) Act, 19727

{a 1
() 1II
fc) 1II

d) 1v

P-DTQ-J-APP/3A
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116. Consider the

114. The sting of honeybee is a modified

organ of which of the following?
{a) Mandibles
(b} Labellum

{c) Ovipositor

" {(d) Proboscis

115. Which one of the following kinds of

substances contribute significantly
in increasing the phosphate
concentration during eutrophica-
tion?

fa) Detergents
{b) Disinfectants
{cj Organochlorines

fd) Synthetic polymers

following charac-

teristics regarding snakes :

1. 3rd supra-labial scale touches
the eye as well as the naris
bearing scale

2. Presence of special spots on
the belly

3. Presence of pit between eye
and naris

Which of the above isfare true in
the case of coral snakes?

{z) 1 and 2 only

(b} 2 only
fc; 1 and 3 only

d 1,2 and 3
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117. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I
{(Name of the
pesticide)

A. Lead arsenate
B. Carbofuron
C. Pyrethrum
D. Naphthalene
Code
@ A B
4 1
{b) A B
4 2
{c) A B
3 1
d A B
3 2

118. Consider the following species of

prawn :

List-I

{Mode of action}

1.
2.

NG =0 BO

- 0

Contact poison
Systemic
poison
Fumigant
Stomach
poisohn

-"U' wg wg

& g

1. Penaeus indicus

Pernaeus monodon

2
3. FParapenaeopsis stylifera
4

Macrobrachium rosenbergii

Which of the above is/are cultured

in freshwater?
{a} 1 and 2

(b} 3 only
{c) 4 only

{d) 3 and 4

P-DTQ-J-APP/3A
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119, Methemoglobinemia is caused due to
the presence of in excess of which
of the following in drinking water?

fa) Iron
(b) Nitrate
(¢) Phosphate
(d) Copper
120. Match List-]1 with List-II and select

the correct answer using the code
given below the Lists :

_ List-I List~IT
(Ruminant’s (Structure)
stomach)

A. Abomasum 1. Gastric glands
B. Omasum 2. Longitudinal leaf-

like folds
C. Reticulum 3. Short finger-like
villi

D. Rumen 4, Ridges

Corle :

(aj A B C D
2 4

A B C D
1 4 2

c) A B ¢ D

@A B ¢ D
2 3
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